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�
2"��  

��	
���
��
���� :���"���0��
$�+���                                                          ������ :�� �3!
�
4","    
��

�������������	
	�����
����������������������:  

�	����	
	���  ) :20 ���� (�
��	
��
����
������������	�
��

�

������������	�
���
������� )(aqI
−

   ����������
�������������� )(
2

82 aqOS
−

 ����������������������������
������� �:       

 )(
2

4)(2)(
2

82)( 22 aqaqaqaq SOIOSI
−−− +=+  

  �� ����������!�����������������"����
���#���$%��!� ���
������������&���������������������'��������
�%�����

����%���������()����)$%�!���)�"�������*!��+��,��-������&,�.!��)���������)"����!�
�������������'��/�      

0�:=f(t)    [I2(aq)] 
������!��%1���� ��������: )����,����23��*!����(�%�����23�(  

1( ��������������4��������% ������� �
�%������������  5  

2( ���'���������)�,���6��������()��
����
����/.���&�������,������&�������������%���
���������%    5  

3( ����!��)��������
����2,%������)����,� )4 ( ��� :mlV 100=    

 �.  �����������'��/���������&�������7���
��2/�
���������8����9�:��2�4�������3��,��*!�� �;�  5  

 +.  �9%)��������8���3��,���2/��������'��/�
��������,%������
���	��������min201 =t ��min502 =t �	��4� �0 

11.. −−
Smol �  �5����<����
���=����9% ������  
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1. ��/� �� �! 
������ >����� ������� ��������� ������ ������� : 31 2
1 2 31 2 3

AA A

Z Z Z
X X X→ +→ +→ +→ + ���� �3���� 	��%��� �� ��� 


������ ����
� *��)� ��� ��3�� ����� ���)�� �� 7������� ?�%� :� (((( )))) (((( )))) (((( ))))2 3 1lib l l l
E E X E X E X= + −= + −= + −= + −                     

2. +
%� �3���� 	��%��� 
 " ������ 	��� 2��������� 235 ������� ��������� �������   :
235 1 93 140 1
92 0 40 52 03U n Zr Te n+ → + ++ → + ++ → + ++ → + + 

3. @��� ���� ���� >��%� ���� (((( ))))Xe .���� 0N � N ��� ����� ������ ��� ���9%)�� 0t ==== � t ()� ������� . 

� - ��� 	���� (((( ))))N ��A�� (((( ))))t ���/� ������ �����B�  (((( ))))λλλλ.  

+ - ���� �� ������ �����B�A �3 ����  :dN
A

dt
= −= −= −= −  .�����
B�� 6�8� �3 ��� �3 ���� �4��
�� ��/�  �� : .A Nλλλλ==== 

C 2/ 7���
� �3 ���  :.
0 .

t
A A e

λλλλ−−−−==== .  

0, - ��/� ;�� ���� ����� 	������  :ln .A a t b= += += += + ?�%  :a � b  �����/ +)�� ����� ��8������ .  

�. �� ��1"� �������� ��%�� D��� ������� �! ��,� ��1�� C ���� �8��� =3��� ��)�� D�$��B� C D3����� ���� 

������� 14
6C �8�!  .
��%� ����� ���"��� �� �$��� 
�3�� E������ C ��� 
,� <�� C @�4� ������ �����B� 0� 14

6C 

���40� �� +�"�� ����4� �/��% ���4�� +�"�� ����4�� ��8� @�� �)���� C 9% �! �� ������ �����B� ���")� 

�/��%�� ���� 7 ���� ��� �� ;�)� �! ���"�� ����4��  .+
%� ����� ����4��� ���")� ����4�� ��� ��)� �� =$� ��� 

������� 14
6C ��   :1/ 2 5600t ans==== (((( )))) (((( )))) (((( ))))1762,5 , 799,8 , 1162E Mev E Mev E Mev

l U l Zr l Te
� �� �� �� �= = == = == = == = =� �� �� �� �
� �� �� �� �

  

�����
��
����
������������	
�

��������������
�78���
9�� �
������������ �!"#$���
���������"������%������&'���(���!"#$)��   :  

�
  �
�������'���8����	�������!)1 : (�����4������

�����/�������������������C�	��F���	�����6E v=  ��

���/�������
�����1C Fµ= ����,����	���
��


$%����G��2 �B� ������>�������/���
�����()�

���&�����A�����/������!�������������������(�%��  

��9%)����!0t = �����4���*)F� : 

1 - ��9%)����!0t = �����������H��!���/���������

�����9��������. 

2 - 8�����������	��������2'�����2�9�����!�'���  

���2�����	�������!������ . 

3 - 
�$%)� �
�:��(�%�����()� )�
����2( ����+,�

�����4�������3�����Ω= kR 2.  

4 - ��������/���(�%�����(���
�:��(�%������������)� 

�������4�������3���F$�.   
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:(���2 



  

��
 ��*������������
)3 (������������"+������
,����&-*)�
��
.���)-)���-vE 6= ����
,��&-*)����"/�-�� ����0�

�
0�")�1��L  

1( ��"�2
3������	
�����4,#�������
���
�����5
��0*����
"���E
dt

di

R

L
i =− .  6  

2( ��*����78#8�)4 (����
,�����
�9��"��4�������5
��0*����)-�����:��R   6 

3( ��*����7�;�<-$#��)4 (�&-*)�& ��=�Ω= kR 5,1 ���"/-����")�1��HL 6,0=   . 

4( �6�����"/-�������-�����
�9��"���)-������>��������0�����?�@�A���BC���D����*���E"�  
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BF=����->
����9-,F������G��C��	�H��,I  )S (�J��>�E$I��*����K���r ��L#�����
0t s= �BF=���M��� )S (�D,F�

�N��
�;�@����&-*��O"#���"5�������;�C�&�	 )G (��-#����7�;�
,��8�)Oz  (��3CP��-#I�
"�->
/�N=����.  

; - 
'��
���<��
2/��!:  

�C�-��@�����;�C��;���������I
"����78#8�����"=F)�B)��C
8��@"0=)��

BF=�����
�;  )S  (�Q�-0������R�3��S-�I ����	�N9-,C�<T�)��*���

��
,���(  

1 - �BF=�����
�;�@����& ��"�U��)-"8���I
:��� ������4"����)S (�Q
8. �%V(�

��"�1
=���W�
F)�7�'�N���Gg
��

 .
�6����#�����"�9��A  

2 - ��"���>T������� dv

dt
 ��g  

3 - ��*����&
"���A1 �&
*���
��"�1
=���W�
F)���">����,)����
88*��

U���=��� 6�N��">��"�
�B�8��S�-=���&
���1'  

  

= - 
>���'��
2/�����  :  

���I
"����78#8����7�;�<-$#���B) ��
�; @��� �;�C �; �����

�BF=��)S (�Q�-0����
�N9-,C�<T�)��*���2 (��XA�Y
����":�)�%�

� �������8;�78#8���.  

1 - �&
"���)��*���2 (��"�
L8�����XA�BCU��"�
LI�	-���?���  

2 - �BF=�����
�;�@�����;�C��
��-������XA�����)��*���
��)S ( 6  

3 - �&
"��<T+�C
�)��*���2 (�">��";����#����;�F����)limv (��

�@"�������@��)τ(  
  

4 - �%5
����M
*�G���->�����I)Q�-0�� (��;�F���%����%���C
8�)2.f k v= �Z��@�����Uairρ Q�-0����"�=#������*���7�;       

m ������� BF=)s. (  

- �BF=�����
�;�@�����;�C��-�)��;����)���������#����"�2
3������	
�����& ��"�)S (��*���������*)2.
dv

B v A
dt

+ =  

�O"G: 
K

B
m

=  ��1 airA g
ρ

ρ

� �
= −� �

� �  

5 - ��"��D��)��������
�������� A ��B ��limv  

6 - ��"��
:���
��">�7��) :6,7A SI= ��1,7B SI=  

   - ���������G���";�K�������"�#����<
���C
�A ��B  

S  - ����#����;�F�����">����������";limv   

7 - ���������">�&-*)�E"�A ��B 6�#���9-,F���[1-�I���
G��
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0�
�/�������/���7����>�����	��
A��
�%���
��������1��	��������������4������"
��<���
,�����C�
�/��04 h   

 0.2 mol  ��C�I�%�����0.2 mol  �4!�
�������J�
��+
������
����,���
�%������  

   �����A���
�������2�4������F��
/��������������������&x =f (t)    

   1/���
����4!�������)$���=$����K�$���+���: C��
:� I�%�� C ��8���
��-���
�%���  

  2 /������������2���3�
����������������������
�t= 4 h  ��<���,������5  

  3 /���'�8����2�4�������xf �-��;���3�2/xmax  5�7���
�������C  

  4 /���!�2�4����
��,�L����&����������	�������)�$%�2��4��-��
�����  

  5 /��&���������/�	�����+���K  ��;���3�+
%���C  

  6  /�-  ��������*��
���(�%�����@���()��2
��x = f(t)  ������%����! :  

      ����7�&�0.2 mol  0�������1�-���
�.00.2 mol  <����/�����I�%���  

      ����7�&�0.2 mol  ������ 02�-���
��0.2 mol  
����/������)����       

     + - �
�����
��D'�$"�����-����4��
�����)���������������+��� 

  

  

  

  

  

  

  

  

  

  

  

  

 

 

 

 

 

  

�����	
0/��
�%"�=���4
-��\G
*�
��-�                     ��"�C����;  

�

 

0,12 

 

0,08 

 

0,04 

t(h) 

X ( mol) 

4321
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����
����
"����"(���
&"'���                               
)"�
���* :����  

������� :+,		���
�-
$�	�                                                                 .���/"
& :&"01
�
2"��  

��	
���
��
���� :���"���0��
$�+���                                                         ������ :�� �3!
�
4","    

��
��	
	���������  ) :20 ���� (  

  

��
����

	�������
�����
���� �����������	
��
��

��;
3��2 - ��-��-2- ���	
������FG�]
)��;
3���<-#*����Q
�������D"����
�Q
����%��&
������":"�:  

4 9 2 4 9 3( ) 2 ( ) ( ) ( ) ( )C H Cl l H O l C H OH aq H O aq Cl aq
+ −+ = + +  

124124 ..10.8,349..10.3,76
3

−−−−
+− = molmSmolmS

OHCl
λλ  

����=���:  

�Y����
�%VI50mL ����,����Q
������25mL �G����	��5
��]
�G��
�Y�*���%VI�U�<-#*������N)��20°C . 

 
�=G X��IV=1mL�� 2- ��-��-2- ��8;�Y�*����
�N�VI��U�&
������":"�t=0  ����-I��*����"+�)��L#��U.  

�
FI
=���!�$"��N*��#)�����D"�(����
�Y
",����"������I��U��"�>
8���Y
",����
�I.  

 �� ��� �=FI200s   ��"�>
8��)(tσ ���7�;��$#I��<-�#������
����<��=:  

2000  1800  1600  1400  1200  1000  800  600  400  200  0  t(s)  

1.955  1,955  1,955  1,856  1,759  1,661  1,466  1 ,270  0.977  0,489  0  (S/m)^  

           x(mmol) 

           nRCl (mmol) 

  

���_CP�:  

1.  6�<-#����<T��<-�#�����"�>
I�	-�)��1
��7�'  

2.  �]�,����<����@=I �`	
#����;
3���.  

3. ��L#�����8;���	�
�����"�-�����"�>
8�����
�;���� t  ��a��+OH3

λ �U−
Cl

λ �U[ ]+OH 3 .  

4. ��L#�����8;���	�
�����"�-�����"�>
8�����
�;�b�8�C't  ���ft .  

5. �8�C ��L#���� ��8;�<-�#������	�
�����"�-�����"�>
8���& �bt ��"�
�����>T��
��
08;��"�������*��:  

( )
( ) .f

f

x t
t

x
σ σ=  

6. <��"�-�������*���& �
��; 2- ��-��-2 - �&
������":"� M=92g/mol N���"�=#������*���3=0,85g/cm   ρ.  

- ��	
���"����FG  2 - ��-��-2- ��"5��������&
������":"�n0  ���L;P��]�,����b�8�C'�B.�Uxmax  

7. �<��=������O�
:�����F���B�) . 
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8. ��	
���"������ �]�,����<����7�;��	
��;'2- ��-��-2 - �]�,������a����"8�?��L#������
�&
������":"�)(tx �B.�U
�<��=������%��������F���B�) . 

- ��BC� �&
"��)()( tflnRCl =  
- �Q
3��'��;�C��FG 2- ��-��-2- ��8;�&
������":"�st 400=   B.��L#����c3I��8;�N5
3�����"�=#����;�F���b�8�C�  

��

�
��
����
����������������	�
�
��
��

���
0�;
3��d�0�F�����-I��e�-f�<
��/�������C��	�X"�T��������"�;-�=��g	���
0��">��;
��C25MW ��V3��d�1��
����*��N��-#)897m g= �]-"I��-"�����235 8����;
3����N"
�`�#��O"GZZZZZ��"�
������	
���
��[X�8����K�-  :                   

( )1  γ+++→+ nTeZrnU
1

0

138

52

95

40

1

0

235

92 3  

�O"G( )jourst ���
����<��=����
��;-�=�����b5
�I�h(�I�U��e�-+���JXA�<
+�/�������A : 
  

  7��P���;-�=���  �"I
:����;-�=���  

����#�����>
���( )MevEtotale∆  
25106150.10 x  

25105171.40 x  

��"+��������( )jourst  2  30  
 

 1– �]-"I-��@����"LI�&'95

40 Zr �W
�/i��%��β − .  

�  /�&�	������:����1
�95 ��40  6.  

�S /6 %�� ���� 78�� 
� .  

 Z� /���-8���JXA�d*3)���	
������ .  

2 – ��"�
������_CP��7�;���
��
��d"�;��;-�=����JXA��A�����
�����U��#"#e�b5
�I�7�'�j�e���"�;-�=����k�G' :  

�  /��;
3����W-I�-A�
�( )1  6.  

�S /�Z�����#�����>
�����FG Mev �.' �]-"I��-"��������-I�<-#).  

 Z� /��"�*������#�����>
�����FG 
totale

E∆  Z�Mev.  

�	 /�6��>
����JXA��0L)��*/�K �7�;.  

�ZA /��e�-+���<
+�/a��"8�@����������FG t .  

�� /7�'�j�e��������;-�=�������b�8�C� �6��#"#$���b5
�8��.  

�g
"����� :           

( ) ( ) ( ) ( )235 95 138 95

40 52 4192
234.99333 , 94.88604 , 137.90067 , 94.88429m U u m Zr u m Te u m Nd u= = = =  

( )1 13

0 1.00866 ,1 1.6 10m n u Mev x Jouls
−= =  

���
��
����
�������������	�
�
��
��

8;ZZZ,���3:*����l��3)���#/��"��;��C��	��ZZZ�]-XZZZ"�T������e
8�����"e-��
�"5
��0*�� ��ZZZZ�A�
 ��
,�����*�����
��8"��  

%V��O"G �%2-����
���9
,��( )1 
��
0�V��B.��8"�������ZZZ2-����Z% ( )2 

�3CP���
��=F����&
"����7�;��$#�"
 .  

6'���
��+�,
� ��* :  

1  
� �#������
0I��8;��3:*�����
�9��"���)-����-A  6.   

2 ��"�2
3������	
�������� ��3:*�����
�9��"���)-����
0��%V(������.  

3 ���*��������"�2
3������	
������G1
t

Cu E e τ
−� �

= −� �
� �

 . 

 -     �j�
:�����
�;���� τ B. N��">��FG 
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4 & �j��;��1'��3:*������C���">��FG  1 40R = Ω.  

   ?�
0���
��+�,
� ��* :  

5 ��
"�����0��	�G��l��3�������	��:�. 

6 ��"���)-����
0��%V(��������"�2
3������	
�������� 
��3:*�����
�9. 

7  %VI 2.R Cτ =�& �4,#)
t

C
u Ee τ

−

= ��G��A
�"�2
3������	
����              

8 ����
,������">��FG 2R .  

��

�
��
������
�������������	�
�
��

�
"�,I�
�F��M��I( )S#��ZZZZZ�M�
>T�I� �,8�����ZZ �A �ZZZ;�C�&��ZZZ ��ZZZZ"5����� F� 7�;ZZZ��
ABCD)�*��� �N�3C ( .

�g
"�����: gmcmABcmBCcmh 10,30,50,20,402 ===== �α .  

�%"�����0)g
�
*�Ga� �
F�������7�;ABCD X�m)� 210 /g m S=.  

  

X��I ��,
P��k-�F���BC�Y
",��%����g
;
3)�a� ( )0, 0
C pp

Z E= =. 

  1 /���,8����8;��"�
,:����8�
*����>
������
�;�D; A�& �4,#)�( )22.5 10
pp

E x J
−=  

  2 /b�8�C� �8;����=����>
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A ��:��6 4HOC H COO
−    

���-����J@"��)�d"�"F"�
C�o�#��<-�#���V#I210 /aC mol l
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II  - �*��K�
=)�d"�"F"�
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